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QUESTION 1

Which parallel model is based on using the Income generated by an existing business model to fund a new digital
business model until can fund itself? 

A. Cannibalism 

B. Erosion 

C. Concurrence 

D. synergism 

Correct Answer: D 

Synergism is a parallel model that is based on using the income generated by an existing business model to fund a new
digital business model until it can fund itself. It is a way ofbalancing the risks and rewards of innovation and disruption
by creating a synergy between the old and the new business models. References: ITIL 4 Leader: Digital and IT
Strategy, page 39 

 

QUESTION 2

Which type of risk is MOST LIKELY to be identified by modeling and test reviews? 

A. Dis risk 

B. Engagement risk 

C. Cyber security risk 

D. innovation risk 

Correct Answer: C 

Cyber security risk is the most likely type of risk to be identified by modeling and test reviews. Modeling and test reviews
are methods of assessing risks by simulating or testing different scenarios, outcomes, or impacts. Cyber security risk is
the risk of unauthorized access, use, disclosure, modification, or destruction of data or systems. Modeling and test
reviews can help identify cyber security risks by exposing vulnerabilities, weaknesses, or flaws in the data or systems.
References: ITIL 4 Leader: Digital and IT Strategy, page 60-61 

 

QUESTION 3

An organization has started a digital transformation programme, and wants to create a culture of innovation. This month,
the CIO plans to deliver a presentation on how chatbots can improve the customer registration experience. Which
approach is the CIO using to support the programme? 

A. Encouraging digital technology opportunities 

B. Establishing a mantel intelligence culture 

C. Giving employees time for training and development 
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D. Working with workflow and talent management 

Correct Answer: A 

Encouraging digital technology opportunities is the approach that the CIO is using to support the programme of creating
a culture of innovation. This means that the CIO is promoting and facilitating the exploration and adoption of new digital
technologies that can create value for the organization and its customers. By delivering a presentation on how chatbots
can improve the customer registration experience, the CIO is demonstrating how digital technology can enable
innovation and enhance customer value. References: ITIL 4 Leader: Digital and IT Strategy, page 25-26 

 

QUESTION 4

Which is a leadership skill that relates to having a digital mindset? 

A. Looking at the potential of new tools to meet customer needs 

B. Sharing success stories frequently to motivate others 

C. Bulking a rapport with regulators and government officials 

D. Measuring the success of strategic digital initiatives 

Correct Answer: A 

Looking at the potential of new tools to meet customer needs is a leadership skill that relates to having a digital mindset.
It shows curiosity, openness, and willingness to explore and adopt new technologies that can enhance customer value
and experience. It also demonstrates a customer-centric and innovative approach to digital transformation. References:
ITIL 4 Leader: Digital and IT Strategy, page 25-26 

 

QUESTION 5

An organization provides services to businesses and private customers, it is now reviewing. its strategy and needs to
ensure that the strategy sufficiently addresses the external perspective. Which question BEST supports this objective? 

A. How can we reduce costs? 

B. How can we improve operational efficiencies? 

C. How do we get to where we want to be? 

D. What markets do we serve? 

Correct Answer: D 

What markets do we serve? is the best question to support the objective of ensuring that the strategy sufficiently
addresses the external perspective. It helps to understand the current and potential customers, segments, needs,
expectations, and preferences of the markets that the organization operates in or wants to enter. It also helps to identify
the opportunities, threats, and trends in the external environment that can affect the organization\\'s strategy.
References: ITIL 4 Leader: Digital and IT Strategy, page 7-8 
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